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Assault, fine and seduction — 5NPY 01p O1IN

OVERVIEW

The Xn**72 mentions three things, “1N91 01p 01X, that N°¥°aw is not vAwn (if 1PPT &Y
mMon1a 1HY). MooIn explains what 03P is referring to, for seemingly there is 0ip by
7nom 01X as well.!

— D3P 159599 DI NIN 152 79T DIYM ¥9 DY NI NN ©IP
o1p refers to the case of a ¥ aw X3, and since he is only liable for 1P (there is
no additional liability), therefore it is called ®1p -

2039 ‘w11 vr 2oaNa ban
However by onx there is the liability of shame and depreciation,’ besides the
01p, therefore it is referred to merely as 01X (and not as 01p).

SUMMARY
A 7"wxm pays only 01p, while a 0Ik» pays 01p as well as 2391 nwI2.

THINKING IT OVER
1. Why did not the Xn>>72 state ¥1 ow XX explicitly as it states N9 01IR?

2. Is vrwn Ny aw the 0391 N2 or does it have the same rule as the 01p?’

"If one is D1xn [or inon] a 717102 77w he must pay a fine of no3 Downn.

2 A 7"wywm is one who claims that his wife was not a 7902 at the time of X171 (that she was 1721 while she was an
7o17R). If it turns out to be a false claim, then the husband is obligated to pay a 01p of 103 fX». See -3 ,23 (XXN) 0°127
0.

3 By "no there is also 0391 N2 (see 2,81 MAND 7IWn).

* He must pay for the shame the woman endured due to this 01X.

> A woman who is not a 77102 is worth less than a 79102. The 0ak» must pay the difference.

% n3m1 N2 are not DI since they are not a fixed amount as the 2w (of the 7noM1 DIXM) or XN (of the 7"wxn), but
rather it is assessed individually, therefore it is considered 717 and not 01p.

7 See >"xon.
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